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INSTRUCTIONS

Read the instructions carefully.
The adimission to the examnination 1s provisional
In the event of any information furnished by the
candidate found falsc/in-correct/incomplete or
illegiblg detected at any stage, the candidature
shall be rejegted.
Please bring the admit card and the acknowledge-
ment card for admission to the examination and
produce the same as and when required
Please put your full signature in the descriptive
roll-sheet in presence of the invigilator,
Darken thé circles in the OMR Sheets
completely with Blue / Black ball point pen only.
Write your Roll 'No. correctly in the space
provided.
Do not open this Booklet until instructed.
Do not take any other materials to the examina-
tion hall other than pen and pencil.

Calculators, Shde
Camera cic. not to

1 pages, Questions

any discrepancy,

minutes and there-

ertamed

itted to leave the

1nation 1s over.

in the examinauon
hall as per the Udisha Conduct of Examination
Act, 1988,
The candidature is liable for rejection in the
event of any infringement of the instruchons
mentioned above.
The candidates arc not allowed to go to toilet
during the last twenty minutes of the examination
The 2nd part of the carbonless OMR sheet
should be carefully detached and taken away by
the candidate after answening all the guestions
The original OMR Sheet must be handed over w
the invigilator.,
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CHILD DEVELOPMENT AND PEDAGOGY
coed Gmie-coae dm aim ggey ? | 1. Which one isdappl_lcar?le for
- an = 2 Child-centred education !
(A) 95@ Bgauete 430 R (A) Learning is done in the
b absence of the teacher
(B) d9% 394 QA9 QgIKiea (B) Teacher teaches with the
81QIe @92’ help of teaching aids
(CT 88e, 991 ATAS 2AITER RIY (C) Teacher acts as a facilitator
R of learning
- - i (D) Teacher directs the pupils to
(D) ?ﬂ@,@@:ﬂ ?!O Y ?“?Q' ae do the home work and come
8121 T6WE 690213 to class
Q6661 /IR QI P67)I8 @89@e | 2. Which of the following statements
QAQ 6RR0 Y 6% ? is not applicable for multigrade
_ R . teaching ?
(A) 99@ 6§41 D91 9 CAIFR! (A) Teacher should prepare a
@6Q plan before going to the
class
(B) Qm6a 6941 QI0Ig 9 (B) There are less number of
Q°G4I @] &I teacher in the school than
) number of classes
(@{éﬁ@ 66115~ 6¢)4116Q Al 6QR (C) Teacher will give task to one
204 69616@ Q10 AFINER class and teach in the other
(D) Teacher will give task to both
(I)) ﬂs&@aaaegeneaafal 896 B 1h_e classes and maintain
ABea o 4ErR Q! faee discipline and sitting at a
central place
QeR USRS 28 S| @ 7 3 Whg is a learncer with- special
(X) G9 G118 8 AI6dR QR6RIQ ity o
& QeaIoIN0Iq 68 (A) Sich\::ros Iisnd1fferf;nt from
physical and
B) 2160 6 AN RERIEQ R mental point of view
QLAIOIS0IQ 8] (B) Different from his peers in
ol 14 b emotional and s
(C) €3 ReRERTR 22I0IROQ view S
ue (C) Different from his peers in
(D) 906ais ANg Pedagogic point of view
(D) All of the above
SET-B '_ [2]
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Who was the propounder of
the ‘Kindergarten’ system of
education ?

(A) Froebel

(B) Montessorie

(C) Roussecau

(D) John Dewy

Why does a teacher ask a few
introductory questions before
teaching a topic?

(A) To maintain discipline

(B) Toimpress about the difficulty
of the topic

(C) Testing previous knowledge

(D) All of the above

Which one of the following is
not an objective of achievement
testing ?

(A) To know to what extent learn-
ing objectives fixed by the
teacher have become fruitful

(B) To know to what extent the
educand has understood the
subject-matter

(C) To know if the pupil has
acquired the proficiency for
class promotion

(D) To know if the pupil will _be
benefitted from a given train-
ing programmc

(Turn over)
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What is not there in a bluc-print

prepared for construction of unit

test ?

(A) Method of valuation of the
answers

(B) Relative weightage to the
topics taught

(C) Relative weightage to the
instructional objectives -

(D) Weightage to the different
form of questions

Which one is not nccessary for

continuous and comprehensive

evaluation ?

(A) Rating scale

(B) Check list

(C) Progress card

(D) Questionnaire

What type of testing is necessary

to assess learning difficulties ?

(A) Achievement testing

(B) Aptitude testing

(C) Diagnostic testing

(D) Unit testing

Which one of the following is

not applicable for essay type

question ?

(A) Question preparation is
casier

(B) All the learning objectives
can be measured

(C) Thinking ability and depth of
knowledge can be measured

(D) Conduct of examination 18
easier
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Which onc of the following is not
an indicator of creativity ?

(A) Divergent thinking
(B) Convergent thinking
(C) Originality

(D) Flexibility

By what type of testing, a:giftcd
child can be identified ?

(A) Diagnostic testing
(B) Unit testing

(C) Intelligence testing
(D) Aptitude testing

Mohit does his homework
regularly. Oneday he was given
some mathematical problems. He
successfully solved one problem
and was encouraged to solve the
next problem. Which of the
following learning laws does it
indicate ?

(A) Law ofimitation
(B) Law of motivation
(C) Law of practice

(D) Law of effect

(Turn over)
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Which of the following 1is
different from the other three
instructional objectives point of
view ? '

(A) Discussion
(B) Illustration
(C) Description
(D) Identification

What should a teacher do to
reduce individual differences in
learning ?

(A)

(B) Special attention on slow
learners

Use of ﬂex_ible Text-book

Provide facilities to the
slow learners to learn at their
own pace

(©)

(D) All of the above

Which factor influences develop-
ment of the child ?

(A) Heredity only

(B) Environment only

(€)

Both heredity and environ-
ment

(D) Maturity

(Continued)
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What is the psychological mean-
ing of learning ?

(A) Acquisition of knowledge
(B) Studying books

(C)
(D)

What does a convex learning

Modification of behaviour

Problem solving,

curve indicate ?

(A) At the initial stage, learning
rate is high and gradually 1t
decreasces

(B) At the initial stage, learning
rate is slow and gradually it
increases

(C)

(D)

|.earning rate is constant
Sudden increase in learning
rate

Which one is a sub-law of ‘law
of practice’ ?

(A) Law of effect

(B) Law of disuse

(C) Law of set

(D) Law of selective response
Which one is not an example of
extrinsic motivation ?

(A) Praise

(B) Prize

(C) Recognition

(D) Interest

(Turn over)
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Which onc is considered to be
the base of all developments of
the child ?

(A) Moral
(B) Mental
(C) Physical
(D) Emotional

Which one of the following is not
a method of studying behaviour
of educands ?

(A) Frec observation

(B) Interview
(C) Testing

(D) Discussion with parents

Which one is not an emotion of
early childhood ?

(A) Curiosity
(B) Anger
(C) Imitation

(D) Sorrow

(Continued)
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{A) (i), (1), (ii1), (iv)

B) @), (i), (iii), (iv)

(C) (), (iid), (iv), (i)

(D) (), (iv), (1), (iii)
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What is the order of occurrence
of the following events in the
language development of a child ?

(i) Babbling
(ii)
(iii)
(iv)
(A)
(B)

Meaningless sound

Sound consisting two words
Speaking part sentences
(11), (1), (ii1), (iv)

(1), (1), (i), (iv)

(©) (i), (i), (iv), (i)

(D) (), (iv), (i1), (iii)

Which one of the following
statements 1s correct ?

(A) Increase in height and weight
refer to development
Growth depends on develop-
ment

Growth is quantitative but
development is qualitative
Development stops at
maturation

(B)
(©)

(D)

Who is the propounder of the
theory of instrumental condition-
ing for learning ?

(A) Pavlov
(B) Thorndike
(C) Lewmn
(D) Skinner

(Turn over)
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Which technique is more effect;ye
at the primary stage for teachin,
the environmental science ?

(A) Observation

(B)
(C) Discovery based

Discussion

(D) Memory based

Which learning 1s not dependent
on motor skill ?

(A) Drawing

(B) Singing

(C) Cycling

(D) Typewriting

A child seeing other children
crying started himself/herself
crying. What type of activity isit?
(A) Unconscious imitation
(B) Deliberate imitation

(C) Sympathetic imitation
(D) Ideo-motor imitation

What type of evaluation is B.E¢
entrance Test ?

(A) Placement
(B) Summative
(C) Diagnostic

(D) Formative

« >
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Answer the following questions choosing the correct alternatives given
(Q. No. 61 to 70) :

8

63.

64.

65.

When young learners seem to lose interest in a loastin, i aacher shoall=

(A) allow them to go out and play

(B) ask them to sleep for a while

(©) tell thema story

(D) ask them to sit quietly for sometime

The instructional objectives are written in action verbs, because they can
be

i st (B) read with clarity
(C). understood property (D) conceptualized

Which among the following is not an assessment tool ?

(A) observation (B) checklist

(C) ratingscale (DY seclf-assessment
When should a teacher design activities for a lesson ?

(A) After selecting the method

(Bj/ After formulation of instructional objectives

(C) After reading the lesson

(D) After collecting TLM

Which is the receptive skill ofa languagf: ?

Mj/Listening and reading

(B) Understanding and speaking

(C) Speaking and writing

(D) Understanding and writing
[37] S
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‘ ledge of internal
66. Which theory of language learning has found ‘“Knowledg ‘

processes’” crucial to the understanding of learners ?
(AY The cognitive theory

(B)- Stimulus - Response theory

(C) Operant conditioning theory

(D) The classical conditioning theory

67. . Writingis _______ representation of speech.
(A) Morphological (B) Linguistical
(C)” Graphical (D) Phonetical

68. Learning of English in India as a second language has been so important

" and inevitable since -
(A) English is a foreign language
(B) People speaking English are highly honoured
(C) Indiais a multilingual country
@ Englishisa liﬁk and international language

69. The alphabetic method the phonic method, the word method and the
sentence method are associated with ___

(A) Listening (B) . Speaking
(C) Reading (D) Writing
70. In order to assess the all round development of a learner, the teacher has to
take the help of
(A) Unitend evaluation
(B) Term end evaluation
CG)/Continuous and comprehensive evaluation

(D) Month end evaluation

‘T-B .
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Read the passage carefully and answer the following five questions
(No. 71 to No. 75) choosing the correct alternatives given :
A hundred years ago, people wondered why one should be concerned
about the tiger. The tiger population was quite large and thick and
widespeard forest cover provided a natural habitat for the animal. But,
over the years poaching and increasing encrochment on tiger’s habitat
have caused the tiger population to decline alarmingly in India. To ensurc
its survival, the Indian Government has placed the tiger in the endangered
species list, and also declared 1t as India’s National Animal.
A hundred years ago, people were ..
(A) very much concerned about the tiger
(B) not bothered about the tiger population
(C) fond of hunting tigers for pleasure
(D) afraid of tigers e
The population of the tiger was large at that time, because
(A) there was enough forest cover for them
(B) people left them undisturbed
(C) people did not hunt them so much
(D) the forest provided natural and easy food for them
The tiger population has come down today because of
(A) declining health of tigers
(B) because of their lack of fertility
(C) insufficient availability of food for them

) killing of tigers and deforestation
The Government has placed the tiger in the endangered species list
(A) to attract tourists
(B) to make poaching of tigers difficult
(CX to ensure that tigers do not become extinct

(D) to increasc the population of tigers

fTuP'H l')vej-}
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75. The word “poaching’ use:

(A)” hunting illegally (B) hunting for pleasure

(C) hunting for trading (D) hunting legally

Read the given passage below and answer the following five

questions (No. 76 to No. 80) that follow by selecting the most
appropriate option :

Rain is very useful for crops. If rain fails, the crops won’t grow. If crops
don’t grow, the people will starve. |

Dark clouds bring the rain. Do you know how these black clouds are
formed ? You have seen water boiling in a kettle and vapours rising from
boiling water when water is heated. It changes into water vapour. This

changing of water into water vapour is called evaporation.

The sun shines over the oceans, the rivers and the lakes during the day.
The water is heated by the heat of the Sun. The water vapours are formed
which are lighter than air and they rise up. Then vapours join together and
they form clouds.

As the vapour rises high, they get cooled. As tﬁéy cool down, they change
into water again. These drops of water fall on earth as rain.

76. Clouds that are carry maximum rain.
N ver T (B dark

77. The word ‘evaporation’ means .
(A) Water is cooled down

(B) Water is heated

(C) The sun is high in the sky

Water is changed into vapoyr
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78. Water vapours risc up as they are lighter than
(A) clouds (B) air
(C) water (D) rain
79.  Vapours turn into water drops when
(A) heated
(B) cooled
(C) enters into atmosphere
(D) when the sun is high in the sky
80. The opposite of the word ‘lighter’ is ____
(A) brighter " (B) thicker
(C) thinner D) heavier

Questions from 81 to 90 have four possible answers each. Choose
the most appropriate one.

81. A pair of spectacles - . lying on the table.
(M/ 18 (B) are
(C) have (D) has
82. IfMafy ———— him, she would be delighted.
(A) had seen (B) sees
) saw (D) has seen
83. Our examination .~ - on Monday next.
(A) isstarting | (3) starts
- (C) will start (D) will be starting
SET_R [41] (Turn over)
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84. My parents went to Rourkela ———a car-
(\A)/ in (B) on
(C) by (D) through
85. One of my friends _ _ attended the meeting.
(A) have (B) have been
€C©) has (D) has been

86. Honour your parents.

Here ‘honour’ isa/an —

(A) adjective B) verb
(C) noun (D) adverb
87. AtPuri____ (anpe quite rough.
(A) sea (B) asea
(€) the sea (D) seas
88. We _______ onthe platform since three o’clock.
(A) waited ; (B) have been waiting
(C) are waiting (D) were waiting

89. Which of the following is grammatically correct ?

i et et o

(A) Alas ! my friend is dead (B) Alas! my friend is dead !
7 (C) Alas, — my friend is dead -
90. He wanted

:

(D) Alas, my friend is dead 7.

(A) me to speak in the meeting

¥ :
(B) me speaking in the meeting
(C) that I should speak in the meeting
- (D) me that I should be Speaking in the meeting
SET-B [42]
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eLET-R

A student constructing different
types of quadrilaterals and mea-
suring their angles came to the
conclusion that the sum of the
angles of a quadrilateral is 360°
What method of learning does it
indicate ?

(A) Inductive
(B) Deductive
(C) Analytic
(D) Synthetic

Which is not an objective type of
question ?

(A) Restricted answer type
(B) Completion type

(C) True-false type

(D) Matching type

Which one of the following
objectives of learning Mathematics
is an affective objective ?

(A) Acquiring knowledge of

Mathematical facts
Applying Mathematical
knowledge in new situation

(B)

Developing interest in

Mathematical learning

©

Developing skill in interpret-
ing graph

(D)

(Turn over)



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App

94. 9de FAIQIR I 9FE YOI 6@E

QIiRes 68 QU6a 9AYede ?
() 9 Gaw

(B) QR dER

(C) FeaaQ

(D) egleam

95. QYIFIPR RAAIMQ YRR Gl

FAIAP AR JHIGS 68 RO LR
QAR ?

(A) LEqIE
(B) Q6486
(€ aea 2°64ad 8 36488
(D) <AIee qrIQ 6AETT geL

' 6OlITY BRI 60IRRg ST AR A8-
6IRRER JEIE ARITER FngQl a-
660INRQAS JIQ ARECS ST AL

R 69INea 98 TN 2gedle
@6 ? '

(A) 1:2
(B) 2€ §
) 2:3

@) 3:2

96.

97.
Q2l4geq Y00 QAU ?
(A) qecid
(B) Qaem
(C) 289@

af &

SET-B

QREAYER 699 IR TG QA

[44]

94. Project Method of

99

96.
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teaching
Mathematics 18 based on the
theory of which Philosopher ?
(A) JohnDewy

(B) Kil Patrik

(C) Stevenson

(D) Froebel

What teaching method s mainly
used for proving a geometrical
theorem ?

(A) Synthetic

(B) Analytic

(C) Both Synthetic and Analytic
(D) None of these

A solid sphere was cut into two
hemispheres. What is the ratio
between the total surface area of
both the hemispheres taken

together and the surface area of
the original sphere ?

(A) 1:2

B) 2:1

(L) 2:3

(D) 3:2

What kind of figure represents the
data in a pie-chart ?

(A) Segment

(B) Sector

(C) Semi-circle
(D) Chord
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10 ] 25 | 35 | 30 [ 15

RU6RIB AIQE16Q 69669 TRA QIF G
6AYeRR A3l HIAISE | @ AEg
MILQ 0 IR TRERSt EIRRIG 6267,
AV6CR416Q 626015 TG IR Q64
6701 gRUINRR 629 ?

(A) 35
(B) 20
(C) 10

D) 5

1998 1999 2000 2001 2002

360 od

QENIB 6RSIOG Agalat 2001 ARLIA
QISR 1998 (TQ1Q AQINROIQ S0
6R6Q 2R ?

(A) 150
(B) 100

(€Y 50

(D) 25

98

99.

OTET-P-1/13-11

Straw-
berries

10 235 35 30 15

Banana|Orange |Mango |Apple

In the above table some kinds of
fruits and their numbers are given.
To draw a pictograph for the data
how many fruits in maximum can
be taken as unit to make the work
convenient ?

(A) 35
(B) 20
(C) 10
D) 5

Production (in tons)
("
L
<

300w
250
200
150
100

1998 1999 2000 2001
Year

2002

As per the above graph produc-
tion in the year 2001 is more than
the production in 1998 by what
per cent ?

(A) 150
(B) 100

(©) 50

[45]
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20
15185 |30 25 |50 | 20

25 15

oe-1 og-1I
(A) 15
(B) 20
(C) 25

(D) 30

Q816 AVE QI ‘Y 98’ AL cRad
QARG Q6L ?

(A) 960y 9181 Qe 026

(B) geoua dgiel QKA 2°d
926 @02

(C) g6aiaFBIEH 2IRe QUERT Qo8

(D) Jaesa QIdiRIa 91 aInal
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(&) 28Ieq RISR FVIQIR Qg
(B) <819 29d8I9a gale aig

(C) €N AR QA0S QI
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160. Taken Figure-I as the sa-mple
which No. can be placed in the
blank space of Figure-1I ?

20

15|85 (30| [25[50 |20

25 15

N

Fig-1

Fig-II
A) 15
(B) 20
(©) 25
(D) 30

101. Which of the following is
not associated with activity
based learning approach of
Mathematics ?

(A) Each learner remains active
(B) Each learner participates in
the activity
(C) Each learner enjoys pleasure
(D) The teacher’s workload is
reduced

102. Analytic method is used by the

teacher in which ;
i of the following

(A) To
B) To establish con
hypothesis

(C) Presentatiq
D) N " of k.

teach known from
own

clusion from

own fact
one of the above :

[46]
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103. In an examination some students

3 4

S —t— == f
anww:rc:cl5 =12 How can

this type of errors be eleminated
by teaching ?

(A) Teaching the role of numera-
tor and denominator

(B) Addition of fractions having
equal denominators

(C) Teaching to find L.C.M. of
numbers

(D) All of the above method

. For identifying numbers on the

number line, the learners should

have knowledge of which of the

following ?

(A) Knowledge about the number
line

(B) Taking the origin on the
number line

(C) Positive and negative direc-
tions on the number line

(D) All of the above

. In which of the following cases

use of Mathematics text-book is

not required ?

(A) Self-learning of learners

(B) Drawing blue-print for
preparing mathematics
question paper

(C) Lesson planning by teachers

(D) Correlating Mathematics
teaching with other subjects

WtsApp/Call- 8596976190
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24, 6669 30 6Q8 Y 46 AINQ 9L

A8 6@60 gIF| ? y Q:,\e:".e
(A) 2100 Iy A
(B) 2550 L 5°

(C) 2700

(D) 3825

601G AAPFRIQ 6SINFLR GO
QIR Y6RUS QIga 6aal 2 & 6a6m
\q26Q IS 694169 6266 AR TIE
AR ?

(A) 4000

(B) 6000

(€) 8000

(D) 10000 .

26919 5969 695N Q0067 GRG A0S
056Q UREIC FALINT | 99 2IAG

QATR ORQIAIR ANF 54 6.9 g4,
6069 SOIPGoR ORQIA 6966 6Q.7. 7

(A) 40
(B) 36
(C) 32

(D) 28

107.

3

106. The mass of a mango 1S 5 times

of the mass of an apple. If the
mass of two mangoes is 900 gm
then what is the mass in gm of
3 apples and 4 mangocs taken
together ?
(A) 2100
(B) 2550
(C) 2700
(D) 3825

The length of each of the internal
sides of an open tank is 2m,

- What is the maximum volume of

[48]

108.

water in litre it can hold ?
(A) 4000
(B) 6000
(C) 8000
(D) 10000

In the given figure below a squart
has been divided into two
rectangles. If the sum of the
perimeters of the two rectanglés
18 54 cm, what is the perimeter of
the square in cm ?

(A) 40

B) 36 @“ 1
€) 32 ]
D) 28

f‘!"nnﬁlﬂd!
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109. 6915\ 2Incemgy 69BN QIgq €aey

5919218 94 @acq 260
Gﬁm 169 Q‘Si ﬁ SLEM
Q1A 6966 figq ?

QFenga
2I0GERgRq

(A) 36
B) 50
(©) 34

(D) 30

110. 12 8gq @1, 9 feq g 6 8 dea

QPO A9IY IR 6RI0ANER AR 6960
F9Q AAQ IR QG QAR ?

(A) 12899
(B)
(Cy 178eQ

13 AgQ

(D) 29%eQ

111. 990 60600 Grae ada el 2%

Q1219 2Sgeea 2nd 9 9e° 2eqeq
BREI GA6R ERFEM AEIC FUEH

QZ ?
() 18
(B) 9
© 8
@) 4

WtsApp/Call- 8596976190

OTET-P-1/13-1I

109. The length of one of the sides of

110.

111,

a rectangle is S metre. If the area
of the square constructed on its
diagonal is 169 sq. cm., then what
is the perimeter of the rectangle

in metre ?

(A) 36 ?.Q/
(B) 50

(C) 34

(D) 30

What is the maximum length of a
straight rod which can be kept in
aroom of length 12 metre, breadh
9 metre and height 8 metre ?

(A) 12m
(B) 13m
(C) 17m
D) 29m

How many three digit numbers
are there in which the sum of the
digits is 9 and the number doesn’t
change on writing the digits in the
reverse order ?

(A) 18 L.
8) 9 q o 1 5
(B) s

(C) 8 (32

(D) 4

(Turn nver)
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112. 987 Q 6RIGRER 3 @ 6TGIE Gl SImER
6699 60R A°HYl Q&R ?

(A7 0

(B)

o

(C)
(D) 3

113. Q@6 Q°¢iilq 2QaIe 5:6 9Q°

6ANIFTR 6.Q1.G. 4 | 6669 6AMPER
R.QIG. 6R6E ?

(A) 90
(B) 100
€y 120
(D) 150
Q9 6916 219909 6844 20%

GQAIN 6 98 20% KFITIN 656 QIRIR
CRQTR I0RG| 6R6C LR QI *AQ ?

114.

(A) 4% Q@
By 4% efe
(C) 1%e@e

(D) 1% *8e

SET-B

L14:

113.

WtsApp/Call- 8596976190

If 3 is subtracted successively

from 987, then what will be the

last number left ?
(A) 0
(B). 1
(C) 2
@) 3

Two numbers are in the ratio 5: 6
and their H.C.F. is 4. What is their

L.C.M. ?
(A) 90
(B) 100

©) 120

D7 150

[50]

Ff the length of a rectangle is
increased by 20% and its breadh

is decreased by 20%, then by

what per cent wil] itg area increase

or decrease ? o
A/
; X -
(A) 4% increase g y
P
(B) 4% decrease ¥ 4 v

(C) 1% increase

(D) 1% dCCI‘CaSe



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

113.0.34 +0.34 @ gay gacg o

(A) 0.67§-§ ~ "1\
g ):)"'\‘tqt
(B) 0.689 N

(C) 0.6878
(B 0.687

116. Q@19 @A@%1 560 §.5.1 g4l Q6
70 @.8. 6Q96Q 8 9Qae! 61T
69 Q91Q 9.30 a.m. YIBRAI | QTER
6FANNFEER 6916 QL8 29y 2 Q.
20 91R¢ 62IR26N 69RT 6REEERER
ANRGI6Q aLBR ?

C
J !g“p
(A) 650 a.m. ':7\’( ) N
£
(B) 6.50 p.m. C,J:J/
(C) 7.50 a.m.
(P 7.50 p.m.

117. B0 696 68668 / ABC @ 909e%
6RI6Q AQYAR 6216 QARSI ARR

Q6% ?

0°<mZABC < 80° \
(AY m {éﬁt
(B) 90° <m/ZABC £ 115°

(©) 100° < mZABC % 150"

(D) 120° <mZABC < 160°

SET-B

OTET-P-1/13-11

I15. Whatis the value of 0.34 + 0.34 ?
(A) 0.6788
(B) 0.689
(C) 0.6878

(D) 0.687

[16. The distance between Puri and
Kolkata is 560 km. A train run-
ning at a speed of 70 km per hour,
left Puri at 9.30 a.m. If it stopped
at stations on the way for 2 hours
and 30 minutes in total then at what
time did it reach Kolkata ?

(A) 6.50a.m.
(B) 6.50 p.m.
(C) 7.50 a.m.
(D) 7.50 p.m.

[17. In which of the following cases it
is not possible to get the comple-
mentary of the supplementary

angle of ZABC?

(A) 0°<mZABC < 80°
(B) 90°<mZABC < 115°
(C) 100°<mZABC < 130°
(D) 120°<mZABC < 160°

[ 51 ] (Turn over)
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118.

118. Q6qI8 8gea LA, /B, ZC, ZD,

ZE, ZF @ 9@a1dq aa8 6960
@g1 ?

(A) 300 A
(B) 180 F B
(C) 72 B C

119. ABCD Q91889 396a m /A :

mZB=3:2606em/C-mzZD
= ?

(A) 1°
(B) 36°

(C) 72°

@y 108°

120. 999 694 9ga €A1 goan 2y

QL ?

(A) <ciog

(B) 2Iaede
(cf arsde oe

(D) erq

119,

120.

WtsApp/Call- 8596976190

AR

he given figure below wiiat 1s

Int :
ures in degree

the sum of the meas
of ZA: 2B, £C, £D; LE, LF?

(A) 300
(B) 180

(C) <72

(D) 360

In the parallelogram ABCD if
mZA:mZB=3:2,then whatis
W/~ m/D=___ "7

@) 1°
B) 36°
(C) 72°
(D) 108°

Whi‘ch of the followin g figures has
no 1_1ne of Symmetry ?

‘:gA) Square

- (B) Rectangle

(C) Parallelogram
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122,

123.

124.

«

Join Us-

tziua@a 98 TVR6Q TNIQIL G Bres
VR 6FYIGYRER IR 99 AIReg gade
@EM | R AIGTLT 669 gRIea ?
(A) 9~

(B) qigea

(€ cadlr

(D) geIqa

J98 0804 699 6Q1TIR RIC IRT
g0 QIn 6gQd! cQISIRE ?

(A) Qe
(B) @dieQe!
(C) Gead Ade®

(D) 6a1sal 990

cQIENd F1IREe6a 2a0 IR U6
Qoo 2 6Q.8. | 6Q% FIRREQ AL
1 - 15,00,000 6267 @8 QIF LR
Qf a6 99e o9 6R60 ?

(A) 1.5@.4.

B) 3.0@4.

(C) 15.0@.8.

@7 30.0@.4.

QIR10. QOR GG 694 8t 0] A6
2RIRe ?

(Y BAGIa F6aEIRad

(B) 29619 6aQ1AQ8

(C) 2ER 26Q8

(D) g1a-4sral aal

| §3 |

k21,

122.

123

124.

A teacher demonstrated an indus-
trial map in the class to teach
about the industries in India. What
type of map is it ?

(A) Topographical

(B) Physical

(C) Thematic

(D) Administrative

Which stage of project prepara-
tion does inspire to take up
future projects ?

(A) Evaluation

(B) Functionality

(C) Recording facts

(D) Project planning

The distance between two places
on the map is 2 cm. If the R.F. of
the map is 1 : 15,00,000, what 1S
the ground distance between the
two places ?

(A) 1.5km
(B) 3.0km
(C) 15.0km
(D) 30.0km

On which principle is the local

sclf-government based ?

(A) Decentralization of power

(B) Centralization of power

(C) Economic growth

(D) Maintenance of Law and
Order

(Turn over)

WtsApp/Call- 8596976190


https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App

125. QRIRS a0 2gdIea QUFOE Q209
=
QuIe, 210996 Ao saIGal S ‘s

Y aeeq AUAIREA g8 Ge1ede
(B) Quiena
(C) 2IeE 67692IR
(D) 4RI 6@6RAM
126.

Qf 69165 QUL :

(A) 2IFYET9 - 691 GERIEYE

(B’)/ 620 — Q8! SERIGYH
(C) 624l - Q21 GeRIEYH
(D) GIIRRIQ - K161 GERIEFH

127. Q962 FIFRIRe 641ga QIO

FANQR 207 AR g49Q 694 3919
QgelN ?

@@)/@ﬁa—qé
(B) of6-0f¢a
(C) oRa

(D) of¢
SET-B |

126.

127.

[54]

WtsApp/Call- 8596976190

whom does the President

dicial and legal opinion as

scek Ju n of the Constity-

per the provisio

tion?

(A) Chi
Court

ef Justice of the Supreme

(B) Prime Minister
(C) Attorney General
(D) Solicitor General

Find the incorrect pair out :

(A) Andhra Pradesh — Godavari
deltg

(B) Kerala—Krishna delta
(C) Odisha — Mahanadi delta
(D) Tamil Nadu — Kaveri delta

What is the direction of the

summer monsoon blowing over

India before crossing the
€quator ?

(A) South-east
(B) South-weg
(C) South

(D) West
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UlLi—x —xr==

128. 6995 Qa9 aramaq odgal °

128. Which is contrary to soil consct-
(A) 6QIQIG QF vation ?
(B) QiQiee Q8 (A) Terrace cultivation |
(C) egeaq (B) Shifting cultivation
o (C) Afforestation
‘()D'fw qisemm@ A (D) Reforestation
129. 606 969916 6419 adiR6q, @I6aa1 | 129. Which hydel project is function-
Q1 QUER AILIRIQ 6298 ? ing on the river Kaveri in
(A) 6999 - Karnataka ? '
= (A) Metur
B) €94
: j) ik (B) Sivasamudram
(C) gieaea (C) Shrisailam
(B garag! (D) Tungabhadra
130. ‘@’ gasa 2el gecye aie aw| 130. Match the industries in Column
‘¢’ gag AMRe S99 6KIG O A8 ‘B’ with associated places 1n
Q7L QUL : Column ‘A’ and select the correct
‘o’ ga ‘@’ gq answzr i;et : R o )
olumn ‘A’ olumn ‘B’
(a) QB (1) 69 ?@Q (a) Ranchi (i) Locomotives
(b) Baigiaiedl (i) SHIR e (b) Vishakhapatnam (i) Tank mzking
(c) 216G (iij) 6eIe@ Gl (©) Avdi (ii) Motor car
(d)Seage (V) 69QERQQ (d) Chittaranjan  (iv) Heavy
QI Electricals
(v) @I2ie adlé ) Shipbuilding
(A) (a) - (iv); (b) - (v); () - (i) (A) (a)-(iv); (b) - (v); (c) - (iib);
(d) - (i) (d)- ()
B) (a) - (iv); (b) - (V) (¢) - (ii); (B) (a)- (iv); (b) - (v): (¢) - (1);
(d) - (i) (d)-@)
(©) (a) - (iiD); (0) - (V) (c) - (ii); (©) (@) - (iii); (b) - (v); () - (ii);
d) - (i) (d) - (1)
(a) - (iv); (0) - (V); (c) - (ii); (D) (@) - (iv); (b) - (v); (¢) - (i)
(d) ) (111) (d) - (“1)
[55] (Turn over)
~oT-B
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131. 1857 QU06Q N2IR AQQEa 354IQ 679
Q°g I 2°EGRE A2 EM ?

(&) eoeg

(B) qda d°g

. e

(@’y/ Q699 QI

(D) Agé fIae

ga9 QYYE U6Q 608 AR Q6
VWASOT “RIRA-2-2Q"’ QT IER
QG QAR ?

Ay Q219 qIaT

(B) 9920aIR 60629

(C) QVQ IRPENIR TEER

(D) aeqe aq aa

60 2INRER QI6TR YIoaY TIS Qvaq
aIR ?

(A) QRTQ 21Q 1892
(B) @198 4129 2188 1905

,(O/@uae IR 2I9Q 1935

(D) QIeedqg aig 1909

131

132,

133,

WtsApp/Call- 8596976190

Who did participate from Odishg
in the Great Indian Revolt of

18577

(A) BuxiJagabandhu
(B) Kuanr Singh

(C) Surendra Sai

(D) Laxman Nayak

To which Indian did the British
Government adorn with the title
“Kaizar-i-Hind” after the First
World War ?

(A) Mahatma Gandhi

(B) Jawaharlal Nehry
(C) Sardar Ballabhbhai Patel

(D) Muhammag Ali Jinnah

Ir} ?vhich Act was there the pro-
vision for Provincia] autonomy ?

(A) Councils Act, 1897

(B) Govt. of India Act, 1905
(C) Gowt. of Indig Act, 1935

(D) Councij] Act, 1909

&~
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OTET-P-1/13-11
134. @R1961 Qidy ggg 6RQ Q8Gq O]

Q6L ? 134. Which is not correct method in
2 black-board work ?
(A) ﬂﬂ@@l&@@%ﬂﬂ%a CNGQY (A) Tecacher to write down In
B) 3900 cusa anin aui | gy o ctersclearly
QYQl (B) To maintain equal distance
e between lines
(£) 6R4R Qseraee o AT FR (C) To erase quickly without
6QQl reading
D) Toread loudly at the time of
D) enge o ( o
(ﬁ) YR ANAER QS YRR TR it
135. 96219 2uI0qI6a ‘@osel’a @aeals | 135. Why is the use of myth done with
P AININQ AL SN QDS 2 utmost care in the teaching of
* - history ?
) 2ERQ QM il 4 -
(A" 1260 261010 95AI0 2048 &7 (A) There is little truth in 1t
(B) 91 AIN6Q 990 A8 2QQIAe (B) Actual facts are presented
@AUAN through it
_ = (C) There is historical truth
(€Y <@ 9860 Wo2ide 4o eI Behind
(D) 99 QoY RIS (D) It is based on truth
136. 6990 AT4 QIE Q6% ? 136. Which one is not a vector
o ity ?
(A) OB6ed quantity ?

(A) Velocity
(B) Momentum
(C) 43_'6161 (C) Acceleration

(D’}/GQQ (D) Speed

137. e1&) 0.25 GREINQ 9@ S <aig9fiq | 137. Madhu kept a rice bag of 0.25

(B) Q6e%

150 cm Q01 7% g8 AJEq Qg | quintal on his head lifting it
_ . 150 cm from the ground. How
° 1Y 6Q6C Fm : :
9 68569 ¢ @'092(’? L much joule of work is done in this
cge ? (g=10m/s’) case ? (g=10 m/s?)
(B) 375 (B) 375
(C) 3750 (C) 3750
Qa6aIs g 671636 Q6% (D) None of the above
[57] (1urn over)
<rT-B
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erty of matter does

138. g@ida 6e9 94 Yela 2eal @aesa | 138. Which prop e

o =3 -nend on its 8
GoQ @69 QIF ? not depend
(A) Volume

(A) LSS _
(B) Qge! (B) Density
© o8 | 5] Sr8
O 21 (D) Shape

: ift kind
5 v 139. (a) Plasticsarea gift to mankind.
139. (a) QERQY AI9Q I AR IR (b) Plastics are a curse P

QIR 26T | i
(b) QERY AILR A AN 9K (c) Putting the plastics wastes in
2Q46IC 266 | a pit and covering it by soil

is an environment-friendly

(c) 2099191 AR AAFIEQ step instead of burning those

60691 0RRER AIBER 69 624l

g wastes.
HReQ8-GRR 0eaR BT | (A) (a) and (b) are correct and
2) 6 (b) 0% 9e° (¢ (c) is wrong :
W/( ) ,\( )1 ©res (B) (a)is correct and (b) and (¢)
(B) ()0 (b)B ()W are wrong
" (2) 6 (c) B 4&* (b) QR (C) (a) and (c) are correct and
3 | (b) is wrong
(D) (a), (b) B (c) OR (D) (a), (b) and (c) are correct
140. (a) 2I9 94IQ QIYSK YT IR 140. (a) The .air we breathe-in
B6RIR 2N | contains traces of ozone.

(b) The oxides of nitrogen

b) QIQ6Q &< RINECIERR .
(b) g & i present 1n the air cause the

2RANRYER 27} AHIQ QG acid rain,
266 | (¢) The oxides of sulphur
(c) QIQYER 291 ANTQ 2ARRIRGYLR Preésent in the air cause
26lI6qIRRR 58 @32I'S | @) ?a‘)fr_lage to the haemoglobin.
d) 18
) i (s By em e :(;)rf;ect and (b) and (c)
B) (b) 6= ¥ (c) 6 () R (B) S;g ;ir?rrect and (c) and (a)
" Jong
(©) (c)OR<e" ()8 ()R ©) (©)is correct and (a) and (b)
are w
(D) (a), (b) 8 () W D) (a), (b a
ﬁ 0d (¢) are wrong
SET-B [58]
(Continued)
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14 y - '
. 699 791 Qe AWsadel quidara 7 | 141, Malaria spreads by which

mosquito ?

(A) 28aw6aaa
q
(A) Male Anopheles

(B) z&a
e (B) Male Culex

© ia NERITRQ (C) Female Anopheles
(D) a9 qienq (D) Female Culex
142. 2191 69199 694 aareq gazl G2ud | 142. In which organ of our body urea
4 ? is formed ?
(A) o (A) Kidney
By g0 (B) Liver
(C) ergR (C) Nephron
(D) aguidsa (D) Pancreas

143. Which one maintains the ionic

143. 6099 AIF 0106Q 2R AZRE sl
balance in the human body ?

@EeQ ?

(A) 64021 (A) Carbohydrate
(B) 6924 (B) Fat

(C) Q&Q (C) Protein

(Dﬁqqra (D) Minerals

144. €06 6QITIR EEFUR 619 A°CTRIR 144. Preventive vaccine of which
. Q60 BEIAN Qg ? disease is not given as injection ?

(A) Whoqping cough .

(A) R2aRId

- (B) Polio
(B')/ I3
o, S (C) Tetanus
- easadal (D) Diphtheria
(D)

[59] . (Turn over)
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145, 62Q0Q QUYL AL ?

(A) Qe

(B)

(a0

(D) ee@

AR6QE AUAR QIR FELIB I 6@Q

Qe0Qg a¢-@ae (theme-based)
6RIRAIRQ ?

146.

(A) 66RI] R
(B) 2998
(©) @ ag8e
(D) QU6RIs AAS

. 90699 °0Re YMA AGYT 767D
AIQ 6QQ ARTER ARLAA 7

(A) QA6RR&
(l}) 69 AAYNE

(C) ges

TB’/@GGG\IQ Qg

SET-B

145.

146.

147,

[60]

WtsApp/Call- 8596976190

Which one does not have satellite?

(A) Mars
(B) Mercury
(C) Saturn |

(D) Jupiter

Which of the following could be
theme-based subject-matter for
Environmental studies ?

(A) Ozone hole
(B) Acidrain
(C) Airpollution

(D) All the above

In which of the following
methods there is possibility of
direct experience 9 '
(A) Survey

(B) Field-trip
(©) Project

(D) AH the abOVE

(Continued)
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149.
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(@) Qe A6 Qg QwAeg
a?mme@e@ AT} adeeg
99 A2-QAR @l o AQIRQ

QAQQ |

(b) QRe oteey AN ALY
ULIRACIER GIgew 0Res 92o
QIET—Q]FM& QA !Q AQIQQ|
Q90 |

(A) (a) @ 21980l 28 9g° (b) @
29401 Q1@

(B) (b) @ 2Iesyeel 23 we° (a) @
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While teaching about the
natural environment correla-
tion is to be established with
the social environment.
While teaching about the
social environment correla-
tion is to be established with
the natural environment.

(a) is essential and (b) is not
essential

(b) is essential and (a) is not
essential

Both (a) and
essential

Both (a) and (b) are not
essential

Which one of the following is not
required in the teaching-learning
process of science ?

(A) Placement evaluation

(B) Diagnostic evaluation
(C) Formative evaluation

(D) Summative evaluation

The sequential steps of observa-
tion-method relating to Environ-
mental studies are —

(A) Observation, analysis of
data, collection of 'data and
inference

Collection of data, observa-
tion, analysis of data and
inference

Observation, collection of
data, analysis of data and
inference

(D) None of the above

(Turn over)

(b)

A)
B)
©) (b) are

(D)

(B)

(€)
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